



姓名: _____

日期: _____ 分数: _____

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right) - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^{(-1)} + \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{3}{5} =$$

$$\left(\frac{1}{4}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{4}\right)^{(-1)} - \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(-\frac{2}{5}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} =$$



姓名: _____

日期: _____ 分数: _____

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{52}{75}$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) = \frac{47}{18} = 2\frac{11}{18}$$

$$\left(-\frac{1}{6}\right) - \frac{1}{2} = \left(-\frac{2}{3}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{14}{25}$$

$$\left(\frac{3}{5}\right)^{(-1)} + \frac{3}{5} = \frac{34}{15} = 2\frac{4}{15}$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{3}{5} = \frac{28}{5} = 5\frac{3}{5}$$

$$\left(\frac{1}{4}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{61}{4} = 15\frac{1}{4}$$

$$\left(\frac{1}{4}\right)^{(-1)} - \frac{1}{3} = \frac{11}{3} = 3\frac{2}{3}$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{3}{5} = \frac{23}{5} = 4\frac{3}{5}$$

$$\left(-\frac{2}{5}\right)^2 + \frac{2}{5} = \frac{14}{25}$$

$$\left(\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{11}{3}\right) = \left(-3\frac{2}{3}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{6} = \frac{13}{6} = 2\frac{1}{6}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{3}{4} = \frac{11}{2} = 5\frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$